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BUTEX Admission Test 2005-2006

01. \/3a+ib=x+iy€ﬁrw=fwm,4(x2_y2)=i+31
X ¥ A
STHIYS: (NS SITR, 3/a +ib =x+iy = a+ib=(x+iy)’ =x’ —iy + 3ix’y — 3xy?
Wﬁﬁm, a=x3-—3x}’2& b=3x2}")’3 , E=Kz“3yz 5 E=3x2"}'2
X
. a P___ 2 2 2 2 a b
+ X*=3y® +3x” —y? =4(x* —y?) . 4(x*-y*)==+— (Prowed)
X vy X Yy
02. 3@ x*+px + q = 0 @ x° + gx + p = 0 7T G207 T A I AT, S (TAS (@, ST AT
TR0 x° + X+ pq = 0 TR 1 T
T X+ px+q=0........... (i) qf¥, (i) e (ii) @ == B e
X" +gx+p=0...... (11) L (i) R aBf=q .. B+q [ a=]]
ﬂlﬁjﬁq‘qﬁ%um— 1 L (i) @ ad=p .. d=p[a=]]
a’+pa+q=0s o’ +qo+p=0 G, oA SRR ¢ X +X+pq =0
@EWW' ,2 2
2 N 1 o ] =x?—(-1)x+pg=0 =x* —(p+q)x +pq =0
P’-q® q-p q-p (p+q) -1 -1 |7 kil
. o=1 D‘._—(D'I'C[) _(p_l_q) (1) g8 (11) Wﬂlﬂﬂ‘f‘lﬁﬂm
S ptq=-1 ... (111) X" +X+pq =0 TR 11 (oo 2
03. P (x,y) R4t a3t =e @R ©7 s=xfFge ar Q (2, 3) g fawr wfomy T @GR A (-1, 2) B(-5, 4)
ISt GRE AT e | (A8 @, 2x —y—1=0|
srar: AB @R =242 -1 PQ GRF BT =2
-5+1 2
P(x, y) © Q(2, 3) Rpifill s@=ca<ia Ao ¢ ——2-—2
X
:>(y—3)=2(x-—-2):~2x—4=y-3=>2x—y-—1=U(CW=FW?<?[)
04. Wﬁﬁsec Zﬂtan—
sin—
AN seczi—Zﬁtan§=0 = : —2\/5 =0
cos’ = cos~
2 2
X . X
1—2+/2 cos=sin= :
= 2_2_9 ::v-]_\/_smx=0:>1—\/55inx=0
2 X 2 X
COS — COS —
2 2

ar J2sinx =1 T, sinx =sinn/4 x=nn+(-1)" /4 (Ans.)
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05. y—xzﬂ%x—fmﬁwwqﬂww%ﬁ'
Wfl(x) y=x"aR H(x)=y= Jx
§ i i B xmy el
(i) 8 (i) ze, x=x" (x —1)}(—0
x=0 xX’=1 x=1
Xx=0 T, y=0 g x=], y=1

(x, y)=(0, 0) = (1, 1)
v, = [ [F,(x) — £, (x) Jax = [ (v —x?)ax

TE: (i) y=x* ; Iny=x*Inx; ld—y—x"_l+lnx.ix‘

y dx X

Again , x* =m =Inm=xInx >~ 3 cx L ilmx =1+hx

m dx X

=—=m(l+Inx)=x*(1+Inx) .'.%x" =x" (1+1Inx)

=x* x ln(x){ln(x)+1}+li| (Ans.)
X

(i) Ie"‘ sccx(l + tan x )dx [.‘.J.e"[f(x)+f'(x)]dx=ﬂ“f(x)+c]
=Ic“ (secx +secxtanx) dx =¢” secXx+c (Ans.)

07. P w3z Q F3fb I=a @R S 39 | P I8 R (it 22 I8iel I9ka Q 579 e 'x' aws w4t

A, 32AE =i 'd' FA09 AW T | &N FA00 E (@, d=PIj|-xQ 1
sl SN @ ze s PLAC=Q.BC............. (1) 7=
A BT P.AC' = QBC e (i) 7% A C B
(1) MR S, L \L \l j,
Q AC p o
P+Q BC+AC AB "P+Q X5 (s fom)
w3rE, (1) T 20, AL A C ¢ B
P _BC BC _BC' P
Q AC _BC+AC AB P+Q ) 3 !
— BC'= g AB ..CC'=BC-B(C p I Q
P+Q R=P+Q
P Px (X7 fom)
—_——(AB-A'B — (Ans.)
= d P+Q( )= d P+ 0
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08. <AereiT afirs qafe Iger 10 cere 117 R Swei
w1 [g=9.8 f/o1]

4% 2 3 ANTHIA

mm%@wnwmﬂmm

T T =10sec (Ans.) H=117m
u? g=9.8m/s
H=£ —u=+2x9.8x117 =47.89 =48 m/s (Ans.) |u=?; T=2?
o<l T=10 H=1225 H=117 @3 & 122.5
2u 12 foter s W |
9—8—=10 ,11=49me Eg—=122.5, "Ll-——'49 u.—'_?:f T:?
09. mﬂ,;=f+}+fé (o3 SrFerad S AN (I HTO |
-,
FAHA: X-S(F AR G359 (984, a =1
=+ A A A - A . 2 - N
I =1+ ]J+Koiree e (1); a =1uwceens vomere (11) Il'l—t—\hz-!-l +12 =43
—F
.8 1 1 |a|=a=\/1_2=1
= cos=——=—=—
ra /3.1 /3
1 1 1
:>9=C05"1(—\;—§] ﬁﬁﬂﬁﬁ,yﬂzmmmww, {:DSB=ﬁ=>9=GﬂE 75—-

10.

a3 BB 3oEre 200 9k 400 9T i CofF FACO I R00 BIFT Wwae 1200 BT T F | ¥
£ QT2 ATNT TYIF @RS F7F W7 o9 @32 9of (AT 300 9=FF ot to i I AT =9

sttgr: 800 =m x 200+ C ..........(1); 1200=m x 400+ C ceereennrasenan(11)

(1) e (ii) ¥eF : 800 =200 m + 1200 — 400 m
— 200 m =400 => m=2 .. C=800-400=400

. e TG =@ y = 2x + 400 (Ans.)

x = 300 «IF AT & 1@ y =2 x 300 + 400 = 1,000 5= (Ans.)

11. % S 3@ 92 TN TAT (S Tl 2, 22 q@0 3ft TR (AT e TSy @|T 16ft ToF (AT | AT
3% TI7 ot = T 7 TS faer 3816 il e O THO AT GR (X F© JA?

Y SN IFH (Fl9,

1 2x3 _
3=11|t]+-2—gt12=>u1=0 :::-t]= —32— —0.4333
3 IEF (T, 16—x=lgtf @, v=gt; =32x0.433
2 =13.86 ft/s

X = ll!"'.;—~1—><'_:':2:"&({].4:133)2 =16-16x0.1875=13ft

12 @ Gee (iars orar 200% I aF (EFSE TS I?

L i L
=2=2x ’—J— ............ (i) 2
g

g

{ 125 E

=2 (ii)

=23sec (Ans.)
L

u,= 0

)

16ft

Frrrrry

=L,(1+2)=3L,
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13. WﬂﬁTﬁt‘ESOOHZWWWWWWW4.IGW|MWMBSZmE“WﬂTﬁI@
& (5 o7 |
T A, —A, =4.16 = V, =V, =4.16 x f [f=300 Hz]
= Vy =352 +4.16 x 300 = 1600 ms~' (Ans.)

14. 167°C & 57°C St*mfme oy e 3D ererrid oo 2féaa wwer ey o9 |

L, -T, ., 110 e T, =167 +273=440K
x100% =mxlﬂﬂﬁ—25/ﬁ (Ans.) ‘_T2=57+273=330_K

Niface «twa @ @M, oI
A @t [v=1A, { same

A =

T

15. a3 tagfes 2fite 220 Volt @32 1000 watt 141 &g | 1 &fE 3T g =ife7 7=7 2.24 Bt =0, S

RFT 2 hr (T01) BIEITS T© [T AQ?

|

wrgE: W = 1000 x 2x ]000=2kwh [w=pt] TT=2 x 2.24 =4.48 5131 (Ans.)

16. 'd' o= R fZom wmt Siear qrer wieaifes a1 2571 5870 A S5 (AT TeW ST S YT TNd qAIEH
e 30° Xet 'd' v Ta?

AMYE: Nnh =sinf = d= Tﬂ' N= : =1
sin @ a+b d
1x5870x1071° » n=1
= i 30° =1.174x10""m (Ans.) % =5870x10"1%m
0=30°

17. =7 1.99 x 10% kg | 938 w79 F= [0z eMareee (schwarvzschild) IJmi4 37 237
(G=6.67 x 107" Nm? kg ™)

i 30
e R, = M 2 | m=1.99 x 10% gk
c G=6.67 x 107" Nm? kg2
-11 30 2 S
_ 6.67x10 x;.iwlo %2 =2949.62m (Ans) c=3x 10" ms
(3}(10) RE-:'?
8. 20Q @@ @I seeIAIoNET AW +° @UE G IT TE I @ e oFEwm@E 1%
SITTSITAIRGITR 47 fex F?
S I S 1l 1
E5+G 100 S+20 ¥ %’\ £~ 100"
20 G=200Q
=100S=8+20=99S=20 .-.S=§§Q =0.202Q (Ans.) |S=7?

19. F I 901 CFIa S Soifeet 27.87 uT uwk [l @t 30° = @ FH S-0019F CF6e Wi [efr g |

sigE: Bcos 8=27.87 => B= 2?'81 =32.18 uT (Ans.) | H=27.87 uT, & =30°
cos 30 B=9
i
20. a9 SO TR I@eI FPIE 30 cm | G IGE IFO[ (@R A @I 97 &l e 2@
1 1 2 _
ERICICH @ u=r=30cm ..—+—=— :blz-%_l:l s v=r=30cm ] ]]1=-—V=—1
u v r vV I r 1 u

. qaOR THE R toR T, T AT ¢ BB | (Ans.)

- Bgaw  SEEEEEENEEE  cncommwews.
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21. Foye drhefer e ol ¢

22,

23.

24,

@) 3G  (¥) 7w Gy () 7@ Bhae  (9) A e () Fofsa  (5) g o
TNYIE: (F) g fohmer — CuS0Os. 5H,0 (¥) st fBlegs — ZnS0,4. 7TH,0
(o) 7= feGasr— FeSO,4. 7H,0 (9) T T_4+— MgS0,4. 7H,0
(e) ReBfef— K,S04. Al,(SO,),. 24H,0  (5) 33 799%— Nap,SO4. 10H,0
SRFTNGTAT 9 9 ¢

Br. A
¥) CH;CONH, + KOH 2,
¥) CH;COOH + NaHCOQ; ——
) {O)— NoCl + ©—OH -

Br. A

ATY: (F) CH;CONH, + 4KOH 2"~y CH; — NH, + 2KBr + K,CO; + 2H,0
(¥) CH;COOH + NaHCO; ——3 CH; COONa + CO,+ H,0

(1) (Op—NoCl + {Oy— OH —{(O)—~ N =N —(O)- OH + HCl

17°C T 1.01 atm 5% 2.10 L SiFeed & Seid o1 4.00 g | {75t Sifes o $97

sats: PV ="V RT — M= "RT W=400gm; T=17+273=290K
M PV P=1.01 atm
- -1 -1
_4x0.082x290 _ 44 85 (g mol™") (Ans.) - |R=0.0821L.atmk " mol
1.01x2.1 V=21L M=7?
PR ERREREEL | ‘
(¥) oee Feits Tee T Sy ATH ---------- THAMIN TS SATS AT |
() 717 OF «iie ¢ SiF FIET & OrTe I T IR Of e |
(1) G0 SCARGIAT BIET oA ~---mmmm- - |
(¥) @ g3d pH >7 T 9 I -----—--- G |
(v) fRom @ WA -—-------- affer e 2R e 3T |
(F) TEF ROOR ARG ---------- o |

ANY: (F) 9 Sadt (4) —57.39Kj/ mole () —1.6 x 107° C (%) ®1R7 (¢) «anfifozr (5) D

25. Sf¥Bie sae 2 sp’, sp” Wt sp W A= o i |

ANMYI: SRGET FFade (Bl AT @rers! ¥Ed gt fof fof «fes afom fifte zor sifes Teras
SG1ET T T AT SEBTET AL 0T |

¥ U
o @ )

sp’ AR sp? @RS sp S

CrANE | |
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26. freTw wae q REt —890.3 kI mol™! =e 1500 kJ o1 Seriy ware & wffmre sfsiee Redts A=eT e

_0q?

sigiE: CHy + 20, = CO; (g) + 2H,0(1) ; AH =-890.3 kJ/ mol
16 gm 64 gm

890.3 kT o S = 16 gm CH, W&

-, 1500 kJ @i+ Sotg =7 = 163?35300 =26.95 gm CH, W&

o O9-9a7 AfATre = 64”1266‘95 =1078 gm (Ans.)

1 mole CHs = 16 gm
022?

27. CuSO. 93 FI0 qF TB} 59 407 8.0 iz Rre eifye Fate ofewana & wiffure s« sl 4w | (Cu
AT+l ©F 63.5 GIR BIE +2)
AY: C7ST OICE, t = 3600 sec; I=8 amp; M=63.5;n=2; F=96500¢c; W=7

T ST, W =t _63.5%8%3600_ g 47 gm (Ans.)

nF 2x96500

28. = Tow MiG?
() aigfes A e (i) g (ii) 26 (iii) ce®  (iv) RNA ¢ DNA
(D e R WpEFRe s (1) T (ii) =Tmerer (i) MR (iv) CTEES
() FEApeEEe =T s (i) deere (i) FLaIS (iil) FREE  (iv) TS
waryE: () (i) 3515 (ii1) cHios (iv) DNA s RNA
() (ii) =FRToIS
(N (1) L& (ii) FL3r= (iii) TS
29. fcye RSy armafRe Py I3 TIE0TTLRA FW S 39 ¢
(@) ST FEedime  (F) fimes Fomedmy g (3) o Seeive
Iy (F) Fe o (%) ZnO +Cr,0, () RIS anff
30. 1.35 & 9y Na,COs AifRte garge 3 250 BT 599 &@e 3= 20 | @2 53w 25 By ofSie gaot 20
fie eFifie 90 | WftTe FREIT HiETal Te7?
Ay (rea e, Wy =1.35gm; V,=250cc=0.25L; M, =106

5, = __13% __ 4051 Molar
Mbe 106?{0.25

V,=20cc:;Vp=25cc;Sp,=0.051 M

9_E, S, V, =5, Vp =8, = 0'0521;' 25 — 0,064 Molar

Ans: 93T HEAW 9F o wibreiva gww@r (0.064x2) Molar a1, 0.128M

R |
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31.

32.

33.

34.

Translate into English :

(a) SR ¥t REnfrerf & '™ I |

Ans : Most of the rich people prefer to living a luxurious life.

(b) ST IR W 78 A oS 7 |
Ans : We should not waste our time.
(c) STRG FTTS & |
Ans : The story is interesting to read.
(d) T U A =T TS AT A |
Ans : The girl cannot help talking
(€) ST St T *Teiz |
Ans : I am in great danger.
Correct the following sentences :
(a) Shahjadi speaks English like English.
Ans : Shahjadi speaks English like the English.
(b) He insisted me to do this.
Ans : He insisted me on doing this.

(c) Mr. Karim shook my hands.
Ans : Mr. Karim shook hands with me.

(d) Two years passed since my sister died.

Ans : Two years have passed since my sister died.
(e) Rabindranath took his birth in 1861.

Ans : Rabindranath was born in 1861.
Put the right form of verbs in the brackets :

(a) John said that he (go) home the next day.
Ans : John said that he would go home the next day.

(b) We are really looking forward to (see) you again,
Ans : We are really looking forward to seeing you again.
(c) It is high time he (change) his bad habits:
Ans : It is high time he changed his bad habits.
(d) If you had started earlier, you (catch) the bus.
Ans : If you had started earlier, you could have caught the bus.
(e) He ran fast lest he (miss) the train.
Ans : He ran fast lest he should miss the train,
Frame sentences with the following indioms & phrases :
Ans : (a) In lieu of (b) All Greek (c) As it were (d) By the by (e) Hand over
(2) In lieu of : He selects physics in licu of chemistry,

(b) All Greek : Meaning- cannot understand.
(c) As it were : He spoke in such a way as it were of his own.

(d) By the by : By the by, what is your name?
(¢) Hand over : You should not hand over the book without my permission.




